EARAROBEEIERT — 2 N— IBISH —F

2018554280 (B) SEIEER3H

m/\79'-3 vAE B2=# Y5R—M (xwlw | lmEmml - |5 @) w8
[AE4£] 1% :350,000” ~ 23%&:81,000”  33%&:4500M  43%&:32,000MH .~ 57&:17,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— e — . ROE— 140, - . — ERAGAE (B%FE
(gl g 7Rz 2L%T R s A R 28 | e
7Y A FRIA— B:O¥HUH Bt -
— - BaANIZ :40. ~ . — REILES] (B
B |77 TER "6 0 i A Y |
L:nNd BiA-TL IR B MER
Er it 4 | ANENE 1:40.4 1-1 39.6| — 3 466 | A (GKR)
3l71717772 ¥53.0 (1/2) (+3) | EEENE
SEILTIVRR B T—N—b M &E
> . s 5 | BEKRE 1:40.5 10-7 38.4| — 10 | 484 |$HAEER (KR)
alglo| e aLa 56.0 7€) o |BAEE
R:v>NyBHhTT BiL—Lvw5> EBRTF— L
< S 40. - 2| - AT (OKiR)
N - IR PA S, e B P A R T | S
o4O BXLATRCF N
s S5 M@ [Pl 1:40. 4- . - 4 #EE (KiR)
6 4| h7¥avIn R (1/02>9 5% : (_626) {4 RERR
RiFkovH/kwF BXH—FhUaY Ry o3 IEEKRRH bY Y3 K
o= R 47 | BERMEE 1:41.2 8-7 39.3| — 7 493 | AR (KiR)
7 3 T RTH— .0 @) (+3) | FEAE
LT RIA¥TvIN> BT v —T%2R AL TINT7— L
S 46 | WAESEE 1:41.3 9-10 39.4| — 1 466 | EIWE— (KiR)
gl1l1| Fwvxo 5.0 (56) Gy |EEBR
RIVNATA—h— B:FIV-I>T1lb F=Tapse]
RN t 5 | HEEHE— 1:41.4 1-2 40.6| — 5 444 | /NEEAE (EERE)
9|55 |F—NFZT> * 5.0 7€) (+5) | FEEZ
LHg /T BIYIAXARZTTS R FRERS
> 5 i 8 | MRS 1:41.5 3-5 40.6 | — 8 429 | RS (BERE)
10/8|10| YT *T7 1%~ 54.0 ) O | RmEET
ZRFAd— R B:aAYIAVT1T EvJLy RIT7—L
® 1—F—@EBIERL
13—7-—
2a=5"=
Jol=5r= (5,7),10,4,8,2,6,3,1,9
43—+ — 7,5,(4,8),10,2,(3,6,9) ,1
[ /N
B 8 460 714K 2-8 590 B 2-7 1,210 JEE 2-7-8 2,320
B B 8 190M4 7-8 390M B & 2-8 1,940 JEE 8-2-7 14,360M
2 290M 2-7 750M B E 8-2 3,120M
7 180M

ABICOVWTRDTEEERROODE. TR LIV,




